Name:

(Thousand’rhs)

—(Decimql Addition and Sub’rrac’rion)—

a.

872.134
+ H46.821

b. Find the sum of 183.542 and 67.9.

c. Most guitars have six strings.
The largest string is 0.042 inches

d. Asingle sheet of regular printer

paper is 0.004 inches thick. A

Preview
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the printable version of this worksheet.

answer:

answer:

e. Fillin the missing value.

whole

147135 96.832

part part

f.  Fillin the missing value.

part part

18.64

49.352

whole
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—(Decimql Addition and Sub’rrac’rion)—

a.

ANSWER KEY (Thousond’rhs)

b. Find the sum of 183.542 and 67.9.
1
872.134

+
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147.135 H9 352
+ 96.832 - 18.640
243.967 30.712
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